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CALC 203  

FINAL EXAM FORMULA SHEET 

 Assume u & v are functions of x. 
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:Trignometric Substitutiion
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 Differentiation 

 Integration 
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  

sin2θ +  cos2θ = 1  1 + tan2= sec2θ 

cotθ =  1
𝑡𝑡𝑡𝑡

         secθ =  1
𝑡𝑡𝑡𝑡

          cscθ =  1
𝑠𝑠𝑠𝑠

             

 

 Solutions to  Second-order DE with right side zero, 0ay by cy′′ ′+ + =  
The auxiliary equation has the form of 2 0am bm c+ + =  and: 

           
 

 

 

 

 

 Partial Sum Test: 

If the limit exists, then the series converges.         
lim   

If the limit does not exist, then the series diverges.nn
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 Ratio Test:  

 

   

 Maclaurin Series: 

  

 Fourier Series:                              

            Roots of the Auxiliary Equation Solution to 0ay by cy′′ ′+ + =  
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:Trignometric Identities
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